| Efficiency vs Dxy |
.02
X

<N S T S| S S S
LR e e S
< R T T
e I s

Q) - H H H H H N N N N
s 1 A S
7 T 0 e

eff

N a—
0008

0008t L b
o won e |
0002

OJ-.\,O_IIII;IIII;IIII;IIII;II ; II;IIII;IIII;IIII;IIII

Rati

09 56-156-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global__mkFit10000__RECO
| Efficiency vs Dz | —e— DQM_V0001_R000000001__Global__mkFit1000__RECO

0.05 —«— DQM_V0001_R000000001__ Global _mkFit1000ATime__RECO
0. s : : :

QOUS[ -
e s

Q g : : : : :
POA i
O r : : : . .
G035 o Frrereree frorereeeee A A
o r 5 5 5 5 5
0,03
JOPIC NS SRS SRS M ¥ S —
L1 S N e . S
| TR
T f B
0008
OJ--L'O:IIIIiIIIIil++.lhﬁi*.lllillllillll
'g L : 1 : 1 :
e L
1_— --------------------- E 3 t SREEEEEEEEEEEEEEE R

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


